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| &%EH KEFHET 7TH 56(1) A 2,072 1,528 R4.12.29 R7.4.30
2| &BHBRERM KEFHT 7TH 56(2) H 2,072 544 R4.12.29 | R8.10.31
3| BBEM FHE AT 1TH 43 H 536 536 R4.12.29 R7.4.30
4| HBRT FHE AT 1TH 64 H 795 795 R4.12.29 R8.4.30
5| &HRH FHE AT 2TH 33 H 346 346 R4.12.29 R7.4.30
6| HHRT FHE AT 3TH 259 H 1,560 1,560 R4.12.29 | R9.10.31
7| &HET FHEHT 4TH 3(2) H 1,056 864 R4.12.29 R8.4.30
8| &HREM HHEHT 4TH 3(2) H 1,056 192 R4.12.29 R8.4.30
9| HHEH FHEHT 4TH 209 H 329 329 R4.12.29 R8.4.30
10| &HEH BGEHET 2TH 129 H 1,135 1,135 R4.12.29 R7.4.30
11| &HBES R ET 2THE 141 H 684 684 R4.12.29 R7.4.30
12| &HES BGEHET 2TH 142 H 985 985 R4.12.29 R7.4.30
13| BHBET R ET 2THE 147 H 1,446 1,446 R4.12.29 | R8.10.31
14| &BEH BGEHET 3TH 240 H 631 631 R4.12.29 R7.4.30
15| BHBEM REET 6TH 55 H 601 601 R4.12.29 R7.4.30
16| AFhHH BT 7TH 106 H 784 784 R4.12.29 | R7.10.31
17 &I BRIUBT LT ITH 15 M 1,421 1,421 R4.12.29 | R7.10.31
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